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PUBLIC ADMINISTRATION
Paper - I

Note :

This paper contains fifty (50) objective type questions. Each question carries

two (2) marks. All questions are compulsory.

1. Which of the following statements about
administration are correct ?

1) It permeates all planned human
activities
2) ltis a co-operative effort

3) The term administration is derived
from the Greek work

4) It is always in pursuit of attaining
desired ends

(A) 1and 2
(C) 2and 3

(B) 1,2,3and 4
(D) 1,2and 4

2. Match List | with List Il and select the
correct answer using the code given
below the Lists :

List—1
a) Development of
modern sciences
and technology

List—1I
1) Rapid

technological
development
created large
scale social
dislocations
which made
state intervention
desirable

F. W. Taylors
ideas convinced
many that
industries,
governments,
even societies
could be make
more efficient
and rational

b) Scientific
management
movement

2)

K-2313

€Y

c) Evolution of the 3) The philosophy
concept of of state functions
welfare state decisively
shifted from
laissezfaire to
social welfare

4) The quality of

public services

was poor and left

d) Movement for
governmental
reform in the USA

much to be
desired
Codes :
a b (o d
(A) 3 2 1 4
(B) 1 2 3 4
©) 1 2 4 3
(D) 2 4 3 1

3. Match List 1 with List 2 and select correct
answer using the code given below the
Lists :

List—1
a) Uniformity

List—-2

1) Governed by
communitarian
service motives

b) External 2) Government finance is
financial controlled by
control representatives of the
people through the
legislature
c¢) Ministerial ~ 3) Political direction is

responsibility  given to the
administration

d) Marginal 4) Regulated by common
return laws and regulations
Codes :
a b c d
(A) 4 2 3 1
(B) 4 2 1 3
(@) 1 2 3 4
(D) 3 2 4 1
Paper ll
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4. Match List — | with List— Il and select the
correct answer from the codes given

below :
List—1 List—1II
(Author) (Title of the work)

a) Wilson Woodrow 1) Public
involvement and
Governmental
effectiveness

b) White Leonard D. 2) A History of
Public
Administration

c¢) Thomas J. C. 3) A Study in
Administrative

History
d) Gladden 4) The Study of
Administration
Codes :
a b (o d
(A) 4 3 1 2
(B) 3 2 1 4
(C) 4 2 1 3
(D) 3 2 1 4

5. Match the List | with List Il and select the
correct answer from the codes given

below :
List-1 List-1I
(Author) (Title of the work)
a) Luther Gulick 1) The Report of the
and Lyndall Committee on
Urwick Civil Service
b) Fulton 2) The Ecology of
Public
Administration
c) Fredriggs 3) Science of

Administration

d) Paul Appleby 4) The Policy and
Administration

Codes :

Sowm>

PN TR NGRS
WNN =T
N A= NO
- swbha

(
(
(
(
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6. Match the List | with List Il and select the

correct answer from the codes :

List—1 List-1I
(Author) (Title of the work)
a) Mohit 1) Public
Bhattacharya Administration
b) C. P. Bambri 2) Bureaucracy
and

Development
Administration

c) Avasti and 3) Contemporary
Maheswari Issues in Indian
Administration
d) R. B. Jain 4) Administration in
Changing
Society
Codes :
a b c d
(A) 2 4 1 3
(B) 3 1 4 2
(C) 1 4 2 3
(D) 3 2 1 4

. Assertion (A) : In administrative systems,

what is described as administrative
behaviour is actually determined by non-
administrative criteria by political, social,
religious or other factors.
Reasoning (R) : The behaviour of
administrators is governed by traditional
organisations and like family, religion,
caste and etc.
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) (A) is true but (R) is false
(C) (A)is false but (R) is true
(D) Both (A) and (R) are correct but (R)
is not correct explanation of (A)

Paper ll
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Which of the following statements are
correct about the behavioural approach ?

1) It is concerned with the scientific
study of human behaviour.

2) Itwas started by ChesterBarnard and
later developed by Simon.

3) lts literature is mostly descriptive, not
prescriptive.

4) It stresses on informal relations and
communication patterns.

(A) 1,2,3,4

(B) 1,2and 4
(C) 1,3and 4

(D) 1and 4
Rationality is the basis of
1) Charismatic authority
2) Traditional authority
3) Legal authority

4) Moral authority
Select the correct code :
(A) 1and 3

(B) 2and 3
(C) Only 3
(D) 3and 4

Which of the following statements are
true about the assumptions of theory Y ?

1) The capacity to exercise a relatively
high degree of imagination, ingenuity
and creativity in the solution of
organisational problems is narrowly
distributed in the population.

2) The average human being does not
inherently dislike work.

3) The average human being leans,
under proper conditions, not only to
accept but to seek responsibility.

@

11.
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4) Under the conditions of modern
industrial life, the intellectual
potentialities of an average human
being are fully utilised.

5) Man will exercise self-direction and
self control in the service self-
direction and self-control in the
service of objectives to which he is
committed.

Codes :

(A) 1,2,3and 5
(B) 2,3,4and 5
(C) 2,3and 5
(D) 1,2and 5

Match List — | with List — Il and select the
correct answer from the codes given
below :

List—1 List—1II
(Books) (Authors)
a) The Practice 1) Herzberg
Management
b) Motivation and  2) Mc Gregor
Personality

¢) The Human Side 3) Drucker
of Enterprise

d) Work and the
Nature of Man

4) Maslow

5) Alderfer
Codes :

o >

@)

- =2 N o Q

O

W oo W
AN =2 O
N W AN O
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The first administrative theorist who gave
the meaningful solution to the problem

of communication is
(A) Barnard
(B) Taylor
(C) Symon
(D) Fayol

The central principle which derives from

Mc Gregor’s theory Y is
(A) Direction and control
(B) Coordination

(C) Scalar principle

(D)

D) Integration

Arrange the following stages in the
evolution of Public Administration as a

discipline in the chronological order :
1) Principles approach
2) Public policy approach

)
)

3) Administrative behavior

4) Politics — administration dichotomy
)

5) Ecological approach
Codes :

A
B
C
D

4,1,5,3,2
4,1,3,2,5

(A)
(B)
(C) 4,1,3,5,2
(D)

4,1,2,3,5
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15. Match List — | with List — Il and select the

16.

correct answer from the codes given
below :

List-1
a) What are the
alternatives ?
b) What is the
problem ?
c) Which alternative 3) Intelligence

List-1I
1) Choice activity

2) Design activity

is best ? activity
Codes :
a b c
(A) 1 3 2
(B) 2 1 3
©) 3 2 1
(D) 2 3 1

Match List — | with List — Il and select the
correct answer from the codes given
below :
List-1
a) The underlying
aim of communication
is a meeting of minds
on common issues

b) Communication is the
blood stream of an
administrative
organization

¢) A communication that
cannot be understood
can have no authority

d) Communication is the
heart of management

5) Simon

List—1I
1) Barnard

2) Pliffner

3) Tead

4) Millet

Codes :

CICICEE

W wnNnh Mo
N DD WT
A =2 W O1 O
= DD oI Q
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17. Arrange the following inorder of
sequence regarding welfare programmes
in Karnataka.

1) Suvarna Gramodaya Scheme

2) Grama Swaraj-Karnataka Panchayat
Strengthening Programme

3) Total Sanitation Campaign
Programme

4) Ashraya Housing Programme
Select the correct code:

Codes :
(A) 4,3,2,1 (B) 1,3,2,4
C) 4,3,1,2 (D) 1,2,3,4

18. The increasing use of the systems and
behavioural approaches encouraged the
comparative study of administrative
systems and the introduction of new
courses like

1) Comparative Public Administration
2) New Public Administration

3) Development Administration

4) New Public Management

Select the correct answer from the
code given below

(A) 2 only
(C) 1and 3

(B) 3 only
(D) 2and 3

19. Which Riggsian model has the following
characteristics ?
These societies have no classification of
functions. A single structure carries out a
number of functions. These societies
havily depend upon agriculture with no
industrialization or modernization. Their
economic system is based on a law of
exchange and barter system.

(A) Fused model
(B) Diffracted model
(C) Prismatic model
(D) Agraria model

K-2313
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20. Bureaucracy according to Weber can be
termed as legal because

1) ltis the most efficient form of
organization

2) The staff members are selected on the
basis of professional qualifications

3) Authority is exercised by means of a
system of rules and procedures

4) The means are expressly designed
to achieve certain specific ends

Select the correct code :

Codes :
(A) 1,2and 3 (B) 2and 3
(C) 3and 4 (D) Only 3

21. The implementation of MGNAREGA is
successful in some States. Which of the
following factors are responsible for the
successes ?

(i) Cash Transfers through Adhar Card
(ii) Social auditing
(iii) Women self help groups
(iv) Involvement of civil society (NGO’s)

Select the correct answer by using
codes given below :

Codes :
(A) (i), (i), (iii) (B) (iii), (iv)
(C) (i), (iii), (iv) (D) (i), (ii)

22. State secretariat mainly performs the
following functions.

Answer the codes given below :
[) Policy making

[) Policy implementation

lIll) Policy analysis

IV) Policy evaluation

Codes :

(A) L1, (B) IL I IV

(C) IV, I (D) I 11V
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23. Assertion (A) : Quantum of authority in
an organization decreases at
successively lower levels.

Reasoning (R) : It is minimum at the
highest level and maximum at the
lowest level.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

24. Arrange the following acts in order of
sequence (which have a profound
influence on Indian administration).

(i) Government of India Act

(ii) Charter Act

(iii) Regulating Act

(iv) Indian Council Act

Codes :
(A) (i), (i), (iv), (i) (B) (iii), (ii), (i), (iv)
(C) (i), (i), (iv), (ii) (D) (iv), (i), (i), iii)

25. Arrange the following committees in

Karnataka in order of sequence.

(i) Vasudeva Rao Committee on
re-organisation of districts and
taluks.

(i) M. B. Prakash Committee on
re-organisation of districts and
taluks.

(iii) P. C. Gaddi Goudar Committee on
re-organisation of districts and
taluks.

(iv) Hondekar Committee on
re-organisation of districts and
taluks

Codes :
(A) (iii), (if), (i), (iv) (B) (iv), (i), (i), (iii)
(C) (i), (iv), (iii), (i) (D) (ii), (iii), (iv), (i)
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26. Assertion (A):

Historically public administration in
India is perceived as the legacy of
British colonial administration.

Reason (R) :

This is evident reason from the present
secretariat and district administration
and superior civil services.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

27. Assertion (A):

Public administration reforms is a
journey rather than a destination.

Reason (R) :

Administrative reforms are aimed to
find the solutions to the problems faced
by the society, economy and polity.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

28. Arrange the rule of Diwans of old Mysore
State in the sequential order.

1) Mirza Ismail

2) Kantha Raj Urs
3) Rangachar

4) Seshadri lyer

Codes :

(A) 4,3,2,1 (B) 2,4,1,3

(C) 3,2,4,1 (D) 1,4,3,2
Paper ll



29. TGS (A) : LomwOTI) (202563°) 0T
ROWE DO eI 03T OB Tene
YRTSE B0ed8 AHIC0T ‘BWRET ' FODT
SRS FIARI, TV,

5009 (R) : 379033 3088 0 R0edT
Ro3eeeE Foney) FoRIS T s
TNFTQ . B3 FoedT QTR TePINY
RRSEBTRY, B3 BLNS CI0YTH BOCIPNG ?
(A) (A) Toe (R) wd@e 3o. mne (R),
(A) c30 ROIRT DWTHCIPNT
(B) (A)nin (R) 20@» 0. 533 (R), (A)
03> ROCINT TWOBOIRNG,
(C) (A) Boc3nnds. 533 (R) Roche),
(D) (A) Boche =33 (R) 50

30. peg 1 T3 EReTF2 T TFRoO.
greaies 4 4RLITOR §Re LYk TOOIRT

ST =03, SRR,
dneE — 1 BReRE — 2
(mozg TOFR) (3o630¢)
a) ﬁ%‘:’%ﬁ@(@:ﬁé}@@) 1) o0DFT VTSN
RoR [Rozpesss 30 P
b) =8 ¥r Aok 2) o RoBeH FK
(To=° deorv/
ROFU)
C) em088030Y,  3) 2200 Je0TS
#ON@(%W)/
ROPRT
d) 2R RF [ 4) TR ABFTE
ROTPEIN
BRCTE
a b c d
(A) 3 4 1 2
(B) 1 4 2 3
(C) 2 3 4 1
(D) 4 1 3 2
Paper Il

Total Number of Pages : 24
31. 2,000 Doty ATTTEE ATIer T 03
(BTEeges) F9NT wedmendnonnt
TOWOG TRODT
BTt B30T et T YVZOR.
1) Qe803> T3S
2) Q0803 SOTWT
3) Qeens QJeRB
4) RN DO
BRCTE
(A) 1,2
(B) 2,3
(C) 3,4
(D) 2,4
32. w0 dxaa%@ @%&m@@o&d@ﬁ , sbng
ROoRYNYOT DT, HF Y eﬁzpdo@@cda
qiraeds—e?odoa% eﬁqﬁgms mwwe%cgg .83
BINT OB SRTO DGITSR),
20RORLIER 9
(A) ROY CIRTH3EETED (1OTET TOWRT)
(B) R cxmTdpsesoes (20T
T0ER)
(C) TOCORRIYIT To0TBRT (M, 5&3@1; =
T0ER)
(D) 0e93 cdnme e
33. @R DRF RODTY TRIFE 2003
(A) 03088 Reorosd
(B) 25 drarcd
(C) QLT draroP
(D) =590, Qearodd

K-2313



29. Assertion (A) : The budget makes a
distinction between the expenditure
charged on the consolidated fund of
India and expenditure and the
expenditure ‘made’ from the consolidated
fund of India.

Reason (R) : The expenditure charged
on the consolidated fund of India is not
subject to the vote of parliament. In the
context of the above two statements
which one of the following is correct ?
(A) Both (A) and (R) true and (R) is the
correct explanation of (A)
(B) Both (A) and (R) true but (R) is not a
correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

30. Match List 1 with List 2 and select the
correct answer using the code given
below the Lists :

List—1 List—-2
(Organisational Concepts) (Function)
a) Auxiliary 1) Direct

organisation accomplishment

of programme

objectives
b) Housekeeping  2) Provision of
organization specialized
advice
c) Lisse organisation 3) Recruitment of
personnel
d) Staff organisation 4) Maintenance of
buildings
Codes :
a b c d
(A) 3 4 1 2
(B) 1 4 2 3
(©) 2 3 4 1
(D) 4 1 3 2
K-2313
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31. In a State Government, directorate is

associated with the following activities
Answer the codes given below :

1) Policy making
2) Policy implementation
3) Policy analysis

4) Policy monitoring

Codes :

32. In a large university, if developmental
attitudes of various groups of students
have to be studied. Which of the following
sample methods are appropriated ?

A) Simple random

B) Systematic random
C)

D)

Stratified random

(
(
(
(D) None of the above

33. Objectivity in social science research

means
(A) Personal judgement
(B) Ethical judgement

(C) Impartial judgement
(D)

D) Value judgement
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34.

35.

Assertion (A) :
Quantitative and qualitative methods
in public administration research are
complementary to each other.
Reason (R) :
Survey research helps to generalise
and indepth case studies throw
insights.
Codes :
(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)
(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

Match List — | with List — Il and select the
correct answer from the codes given
below :

List—1 List—1II
a) Theoretical i) Industrial
Research Policy
b) Policy research i) MGNAREGA
c) Evaluation iii) Relevance of
research NPM to India

d) Action oriented iv) Civil society

Research

Codes :

a b c d
(A) ii [ iii iv
(B) [ ii iv i
(©) i [ iv i
(D) iii i i iv
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Translation of right to food in to better out
come is a an important challenge before
the administrators. In this contest, which
of the following factors are responsible
for a limited impact of the PDS in the past.

Select the correct answer by using
codes given below :

(i) Inclusion errors (Including of non-
poor)

(ii) Exclusion errors (Excluding the poor)

(iii) Leakages and wastages in storage of
food grains

(iv) Diversion of food to the open markets
(v) Cash transfers through Adharcard
Codes :

(A) (i), (iii), (iv), (v)

(B) (i), (ii), (i), (iv)

(C) (iii), (iv), (v)

(D) (i), (iii), (iv)

37. Assertion (A):

Cash transfer through Adharcard can
ensure the reaching of the benefits to
the poor.

Reason (R) :

Many benefits meant for the poor have
not reached due to wastages, leakages
and corruption. According to former
Prime Minister Rajive Gandhi, only
20 paisa out of 1 rupee reaches to
the poor.

Codes :

(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true
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38. Match List — | with List — Il. Select the
correct answer from the codes given

below :
List—1 List—1I
a) NRHM 1) Employement/
work
b) MGNAREGA 2) Urban areas
c) JNNURM 3) Health
d) Bharath Nirman 4) Roads
Codes :
a b c d
(A) 1 3 4 2
(B) 3 1 2 4
(C) 2 4 1 3
(D) 4 2 3 1

39. Match List — | with List — Il. Select the
correct answer from the codes given
below :

List-1 List-1I
a) A. G. Ramachandra 1) Regional
Rao Committee Disparities on

(1961) (2002)

b) Haranahally Rama 2) Administrative
Swamy reforms
Committee on

c¢) Seshadri 3) Economy and
Committee resources and
report on administrative

reforms

d) Nanjundappa 4) Development

Committee of integrated
report on areas
reorganised
Karnataka
Codes :
a b c d
(A) 1 3 4 2
(B) 2 1 3 4
(©) 3 2 4 1
(D) 4 2 1 3
K-2313
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40. Which of the following elements,
constitute governance ?

Answer in the following codes :

1) Governance is a process through
which desired goals are to be
achieved.

2) Governance is a process through
which policies are formulated and
implemented to achieve the desired
goals.

3) Governance is a process in which
actors from the state, market and civil
society are involved.

4) Governance is synonymous with

Government.
Codes :
(A) 2,1,8,4 (B) 4,1,2,3
(C) 8,4,1,2 (D) 1,2,3

41. Arrange the following in order of
sequence regarding welfare programmes
in Karnataka.

1) Yashaswini Yojane
2) Women self help group programme
3) Bhaghyalaxmi yojana programme
4) Swarna Jayanthi Grama Swaraj
Codes :

(A) 4,2,1,3

(B) 3,2,1,4
(C) 1,3,2,4
(D) 4,2,3,1

42. The Central Council of Local-self
Government was set up under by

(A) The provisions of the Constitution
of India

(B) The order of the President of India
(C) An enactment of Parliament

(D) The order of the Ministry of
Agriculture and Rural
Development
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43.

44,

45.

46.
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43. Who appoints the Municipal Commissioner
of the municipalities ?

(A) The State Government
(B) The Mayor

(C) The President of India
(D) The Governor

44. Local-self Governments are included
in the

(A) State list
(B)
(C) Concurrent list
(D)

Union list

Both state and union list with centre
having the final say

45. The role of Central Government is regard
to Local-self Government is

(A) Vast
(B) Absolutely nothing
(C) Limited

(D) Absolute

46. Arrange the following programmes in the
sequential order of the year of introduction :

A) Community Development
Programme (CDP)

B) Tribal Area Development Programme
(TADP)

C) Drought-Prone Area Programme
(DPAP)

D) Minimum Needs Programme (MNP)
Codes :
(A) A,B,C,D
(B) B,C,D,A
(C) C,A,B,D
(D) D,B,A,C
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47. Which of the following are not the basic
themes of scientific management ?
a) Cooperation, not individualism
b) Harmony, not discord
c) Science, not rule of thumb
)

d) Maximum output, in place of restricted
output

e) Development of efficiency and
prosperity
Codes :
(A) a,bandc
(B) a,b,candd
(C) a,b,c,dande
(D) None of above

48. Which of the following statements are
true about Central Secretariat in India ?

1) It assists the council of ministers in
the fulfillment of its responsibilities
and duties.

2) It is based on the belief that policy
making must be separated from policy
execution.

3) ltis the totality of all the ministries and
departments of Central Government.

4) Secretariat system in India is similar

to both British and Swedish systems.
Codes :
(A) 1,3and 4
(B) 2,3and 4
(C) 2and 3
(D) 1,2and 3
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49. Assertion (A) : The 734 amendment to
the constitution gives a constitutional

status to the Gramsabha.

Reason (R) : The Balvantray Mehta
Committee report made a formal

mention of the Gramsabha.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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50. Assertion(A): Democratic administration
means much more than electing the

representatives who make policies.

Reason (R) : It ensures people’s
participation in the administrative

process.
Codes :
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is
not a correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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